13000 GeVpp tt

_| | T I T I T I T I T | T I T I T I T I T |_ ﬂ

| - =

B . . o

B Extra jet —» Top P, ratio (ATLAS ttbar) 1z

X

L 1O

o

Lo

Nl

— — d

— i

= m

N mhe

- m B 42

L u e
= =

- 1=

— — ™M

— <

(40)

. ik

L m ATLAS 1o

--G-- Pythia 6.428 345 2

107t = = Pythia 6.428 346 =

— —A— Pythia 6.428 370 =

- Pythia 6.428 default e

— —4— Pythia 8.170 default -8

)

B 19

o

(&)

078 e e e e T

2 E -2
%) - E
< — ]
- - |

|_

< — —]

8 1
o .
T _
m —

—0.5
1 " 1 " 1 " 1 " |
3

pT,extral

Rt,l



	Contents
	Page 1


